With FULL OUTER JOIN:
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select boacct_unit, sun(b budget_smount). sun(s.spend_smount)
fron uabhssd vwuabbudget b full outer join

uabhssd vwusbspend s on

b fiscal_year - s fiscal_year and

blacct_period = s acot_period and

b account = s.account,
group by b acct_unit
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With RIGHT OUTER JOIN:
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select b.acct_unit. sum(b.budget_amount). sum(s. spend_amount)
fron uabhesd vwuebbudget b right onter jein
uabhesd vinuabspend 5 on
b fisoal year - s.fisoal_yesr snd
b acct period - o sectopericd and
blacoount = 5 acoount
voup by b acot_unit
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[ vata Grid | B scrot output | B expan Pln |
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ACCT_UNIT |SUM(B.BUDGET_AMOUNT) |SUM(S SPEND_AMOUNT)
» 100826447.07.
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With LEFT OUTER JOIN:
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select b.acct_unit. sum(b.budget_amount). sum(s spend_amount)
from uabhssd . vwuabbudget b left| outer join
uabhesd vinuabspend 5 on
b fisoal year - s.fisoal_yesr snd
b acct period - o sectopericd and
blacoount = 5 acoount
voup by b acot_unit

[pata Grid Bx
[ vata Grid | B scrot output | B expan Pln |

& - » w0
ACCT_UNIT |SUM(B.BUDGET_AMOUNT) |SUM(S SPEND_AMOUNT)

» 6300 44676088.92 -138188665
8972 12205261.79, 31465403 .91
6420 976519461 27610421.23
8382 5762439 2520389.41
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